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EHME(D2) 0.125 b (W) 0.50 + 0.50 m
HBHIIE (W) BX(H) BIME o
) &= 0.50 X ( 086 + 0.125 + 0.1)= 0.54
HBHIIE (W) BX(H) WHEEN) R
AR = 0.50 X ( 0.87 - 03 - 0.16)= 0.21
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B = 0.54 m
KB R (D) 1, S5 B v S i
D2 &M% — B ()
E A EAME EE  [Romzers] |D2:] 8 EHME 125
1 |PP ¢ 13mm 21.5 0.55 W:| 8 H 1 S 0.5
2 |PP ¢ 20mm 27.0 0.55
3 _|PP¢ 25m 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40m 48.0 0.55
6 _|PP ¢ 50mm 60.0 0.55
9 |DCIP ¢ 125m| 143.0 0.65 M20+ 10 N
10 |EF ¢ 150mn 180.0 0.50
11 _|EF ¢ 200mn 250.0 0.50
12 |DCIP ¢ 250mn| 271.6 0.80 M20-10 -
13 |DCIP ¢ 300mn | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm| 374.0 0.90 M20-10 < g\/
15 |DCIP ¢ 400mn| 425.6 0.95 M20-10 0
16 |DCIP ¢ 450mm| 476.8 1.00 M20+10
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HBHIIE (W) BX(H) BIME o
) - B = 0.55 X ( 0.86 + 0.089 + 0.1)= 0.58
HBHIIE (W) BX(H) WHEEN) R
AR = 0.55 X ( 0.87 - 03 - 0.16)=  0.23
HBHIIE (W) P R (h1) EWrES
PR = 055 X  0.489 - 0.0123 = 0.26 m
HEH =
A pi= 0.58 m
KB R (D) 1, S5 B v S i
D2 &M% — B ()
X5 B BOME e | Barg-ps] |D2:f 7 BAME 89
1 |PP ¢ 13mm 21.5 0.55 W:| 7 H 1 S 0.55
2 |PP ¢ 20mm 27.0 0.55
3 _|PP¢ 25m 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40mm 48.0 0.55
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8 |EF ¢ 100mn 125.0 0.55
9 |DCIP ¢ 125m| 143.0 0.65 M20+ 10 N
10 |EF ¢ 150mn 180.0 0.55
11_|DCIP ¢ 200mm| 220.0 0.75 M20-10
12 |DCIP ¢ 250mn| 271.6 0.80 M20-10 -
13 |DCIP ¢ 300mn | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm| 374.0 0.90 M20-10 < g\/
15 |DCIP ¢ 400mn| 425.6 0.95 M20-10 0
16 |DCIP ¢ 450mm| 476.8 1.00 M20+10
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3 _|PP¢ 25m 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40m 48.0 0.55
6 _|PP ¢ 50mm 60.0 0.55
7 _|EF ¢ 75mn 89.0 0.55
8 |EF ¢ 100mn 125.0 0.50
9 |DCIP ¢ 125m| 143.0 0.65 M20+ 10 N
10 |EF ¢ 150mn 180.0 0.50
11 _|EF ¢ 200mn 250.0 0.50
12 |DCIP ¢ 250mn| 271.6 0.80 M20-10 -
13 |DCIP ¢ 300mn | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm| 374.0 0.90 M20-10 < g\/
15 |DCIP ¢ 400mn| 425.6 0.95 M20-10 0
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HBHIIE (W) BX(H) WHEEN) R
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PR = 055 X  0.460 - 0.0028 = 0.25 m
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X5 B BOME HE | Barg-ps|  |D2: 6 BAME 60
1 |PP ¢ 13mm 21.5 0.50 W:| 6 H 1 S 0.55
2 |PP ¢ 20mm 27.0 0.50
3 _|PP¢ 25m 34.0 0.50
4 |PP ¢ 30mm 42.0 0.50
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7 |EF ¢ 75mm 89.0 0.55 c
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13 [DCIP ¢ 300mm | 322.8 0.85 M20-10 <

14 [DCIP ¢ 350mm | 374.0 0.90 M20-10 < g\/
15 [DCIP ¢ 400mm | 425.6 0.95 M20-10

16 [DCIP ¢ 450mm| 476.8 1.00 M20-10
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2 |PP ¢ 20mm 27.0 0.55
3 _|PP¢ 25m 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40m 48.0 0.55
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8 |EF ¢ 100mn 125.0 0.50
9 |DCIP ¢ 125mm| 143.0 0.65 M20-10 N
10 |EF ¢ 150mn 180.0 0.50
11_|DCIP ¢ 200mm| 220.0 0.75 M20-10 T
12 |DCIP ¢ 250mn| 271.6 0.80 M20-10
13 |DCIP ¢ 300mn | 322.8 0.85 M20-10 <
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KB R (D) 1, S5 B v S i
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E A EAME EE  [Romzers] |D2:] 8 EHME 125
1 |PP ¢ 13mm 21.5 0.55 W:| 8 H 1 S 0.5
2 |PP ¢ 20mm 27.0 0.55
3 _|PP¢ 25m 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40m 48.0 0.55
6 _|PP ¢ 50mm 60.0 0.55
9 |DCIP ¢ 125m| 143.0 0.65 M20+ 10 N
10 |EF ¢ 150mn 180.0 0.50
11 _|EF ¢ 200mn 250.0 0.50
12 |DCIP ¢ 250mn| 271.6 0.80 M20-10 -
13 |DCIP ¢ 300mn | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm| 374.0 0.90 M20-10 < g\/
15 |DCIP ¢ 400mn| 425.6 0.95 M20-10 0
16 |DCIP ¢ 450mm| 476.8 1.00 M20+10
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13 |DCIP ¢ 300mn | 322.8 0.85 M20-10 <
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15 |DCIP ¢ 400mn| 425.6 0.95 M20-10 0
16 |DCIP ¢ 450mm| 476.8 1.00 M20+10
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HEH =
B = 0.40 ni
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2 |PP ¢ 20mm 27.0 0.55
3 _|PP¢ 25m 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40m 48.0 0.55
6 _|PP ¢ 50mm 60.0 0.55
7 _|EF ¢ 75mn 89.0 0.55
8 |EF ¢ 100mn 125.0 0.50
9 |DCIP ¢ 125m| 143.0 0.65 M20+ 10 N
10 |EF ¢ 150mn 180.0 0.50
11 _|EF ¢ 200mn 250.0 0.50
12 |DCIP ¢ 250mn| 271.6 0.80 M20-10 -
13 |DCIP ¢ 300mn | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm| 374.0 0.90 M20-10 < g\/
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2-2T. X EF ¢ 75, PP$ 50-13 HHEEE)

EA ks OB | s
[97%]
PI=F L ERFEL ¢ 75mm 114.3 1143 | m
¢ 50mm 2.7 2.7 m
¢ 13mm 33.4 33.4 m
BE ekl Vb X
BlEE ST T ¢ T5mm 21 + 2+ 8 + 1 32 [0
g
AB = I AHEFE T ¢ 75mm 1 1 =]
MFY af b
A= I HEFETL ¢ 50mm 2 2 =]
FEEAGERE T | 0300 ¢ 75mm 1 1 & AT
FWAA AN —FBEL] ¢ 75mm 1 1 &R
EREST
e FRERE T ¢ 75mm 2 2 AT
el ERRE T ¢ 75mm 1 1 AT
EREST
e FRERE T ¢ 50mm 1 1 AT
TIVEE O MFVab
T VEF T ¢ 75mm 1+ 2 3 =
AT 7R L 146.1 146.1 m
AR TR
PPAESFT ¢ 13mm 32 + 8 40 =
AR R
¢ 50mm 4 + 1 5 =]
EFE A
SAKERGT | ¢75mX ¢ 13m 8 8 ST
EFE A
& 75um X ¢ 50mm 1 1 ST
VCEELE
Ah = AETFRANL T ¢ 75mm 1 L H
VCEELS
TIVVHFRALT] ¢ 75mm 1 1 m
G 75
LU EEA AR H=940mm 1 1 &R
ATT T FGAIT | 13.6 13.6 kg
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22T #EEMHEAE &

EA ks ¥ B | s
EE (2R

VCEELS ¢ T5mm 1.0 X 13.6 13.6 ke

BRI Ty 7| 13.6 kg
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+ T & X
2-2T.IX EF ¢ 75mmAffisk T E a5 ERH= 090 m
MEF ¢ 75mm S HbE (W) AR (C)
EHME(D2) 0.089 e F e (W) 0.55 + 0.55 m
HBHIIE (W) BX(H) BIME o
) - B = 0.55 X ( 0.86 + 0.089 + 0.1)= 0.58
HBHIIE (W) BX(H) WHEEN) R
AR = 0.55 X ( 0.87 - 03 - 0.16)=  0.23
PEHTR (W) WHRE (h1) EWrES
PR = 055 X  0.489 - 0.0062 = 0.26 m
HEH =
A pi= 0.58 m
KB R (D) 1, S5 B v S i
D2 &M% — B ()
X5 B BOME e | Barg-ps] |D2:f 7 BAME 89
1 |PP ¢ 13mm 21.5 0.55 W:| 7 H 1 S 0.55
2 |PP ¢ 20mm 27.0 0.55
3 _|PP¢ 25m 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40m 48.0 0.55
6 |PP ¢ 50mm
8 |EF ¢ 100mn 125.0 0.50
9 |DCIP ¢ 125m| 143.0 0.65 M20+ 10 N
10 |EF ¢ 150mn 180.0 0.50
11 _|EF ¢ 200mn 250.0 0.50
12 |DCIP ¢ 250mn| 271.6 0.80 M20-10 -
13 |DCIP ¢ 300mn | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm| 374.0 0.90 M20-10 < g\/
15 |DCIP ¢ 400mn| 425.6 0.95 M20-10 0
16 |DCIP ¢ 450mm| 476.8 1.00 M20+10
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&= W o% |71k HEEg T ELmmc ¢ dd X T - N =/ S P 9o %
= V(TR ) S
VAR HX &, T wwog ¢ dd@)
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==X
2-2T.IX PP ¢ 50mmAiisx T A it 5 ERH= 090 m
@PP ¢ 50mm S HbE (W) AR (C)
EHME(D2) 0.060 e F e (W) 0.55 + 0.55 m
HBHIIE (W) BX(H) BAME o
) - B = 0.55 X ( 0.86 + 0.060 + 0.1)=  0.56
HBHIIE (W) BX(H) WHEEN) R
AR = 0.55 X ( 0.87 - 03 - 0.16)=  0.23
HBHIIE (W) P R (h1) EWrES
PR = 0.55 X 0.460 - 0.0062 = 0.25 m
HEH =
A pi= 0.56 m
KB R (D) 1, S5 B v S i
D2 &M% — B ()
X5 B BOME HE | Barg-ps|  |D2: 6 BAME 60
1 |PP ¢ 13mm 21.5 0.55 W:|6 H 1 S 0.55
2 |PP ¢ 20mm 27.0 0.55
3 _|PP¢ 25m 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40mm 48.0 0.55
8 |EF ¢ 100mn 125.0 0.55
9 |DCIP ¢ 125m| 143.0 0.65 M20+ 10 N
10 |EF ¢ 150mn 180.0 0.55
11_|DCIP ¢ 200mm| 220.0 0.75 M20-10
12 |DCIP ¢ 250mn| 271.6 0.80 M20-10 -
13 |DCIP ¢ 300mn | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm| 374.0 0.90 M20-10 < g\/
15 |DCIP ¢ 400mn| 425.6 0.95 M20-10 0
16 |DCIP ¢ 450mm| 476.8 1.00 M20+10
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2-2T.IX PP ¢ 13mmfiigx T A E a5 ERH= 0.65 m
@PP ¢ 13mm S HbE (W) AR (C)
EHME(D2) 0.022 e F e (W) 0.55 + 0.55 m
HBHIIE (W) BX(H) BIME o
) &= 0.55 X ( 0.6l + 0.022 + 0.1)= 0.0
HBHIIE (W) BX(H) WHEEN) R
P R = 0.55 X ( 062 - 03 - 016)=  0.09
PEHTR (W) WHRE (h1) EWrES
PR = 0.55 X 0.422 - 0.0004 = 0.23 m
HEH =
B = 0.40 ni
KA R (HD) 1, Sl R A Bk o
D2 &M% — B ()
X5 HfE BOME fEEE  [Rarzeers] |D2:] 1 BAME 21.5
Wil 1 H 1 S 0.55
2 |PP ¢ 20mm 27.0 0.55
3 _|PP¢ 25m 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40m 48.0 0.55
6 _|PP ¢ 50mm 60.0 0.55
7 _|EF ¢ 75mn 89.0 0.55
8 |EF ¢ 100mn 125.0 0.50
9 |DCIP ¢ 125m| 143.0 0.65 M20+ 10 N
10 |EF ¢ 150mn 180.0 0.50
11 _|EF ¢ 200mn 250.0 0.50
12 |DCIP ¢ 250mn| 271.6 0.80 M20-10 -
13 |DCIP ¢ 300mn | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm| 374.0 0.90 M20-10 < g\/
15 |DCIP ¢ 400mn| 425.6 0.95 M20-10 0
16 |DCIP ¢ 450mm| 476.8 1.00 M20+10
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2-3T.X EF ¢ 75, PP ¢ 13 B (AKZ)

£ b5Xig & | B
[&E#]
- . HE e
EFZ O EE & 75mm 21+ 2 23 N
FHEE R RBTKTER | o 300mm X ¢ 75m 1 1 1A
Fhd
7 — IR ¢ 75mm 2 2 1A
8 Y7k
LR E JWWA B 132 2+ 2 4
RS
RB25 (K) 4+ 4 3
e
RA25 (A) 2+ 2 3
THEEE
RC25(C) 2+ 2 3
R
RS25(S) 2+ 2 HH
TIEE ¢ 75mm 1 1 1
EFF—X $ 100X ¢ 75 1 1 jE]
EFY 7 oh ¢ 75mn 7 7 jE]
¢ 75mm
EFfr &~V 45° 2 2 jE]
750y ¢ 75mm 1 1 jE]
R RkE
HR7T—7 TARAEL| 1179 - 1.560 + 22.6 1389 | m
~—J—Hh 12 12 jE]
3.0+0.3 2.5+0.3
R =T L4 ¢ 13mm 3.3 X 6+ 28 X 1 22.6 m
PV LR ¢ 13mn 1 X 7 7 jE]
PP /LR ¢ 13mm 1 X 7 7 jE]
EFE MY E V43K | ¢ 75X ¢ 13an 1 X 7 7 A
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2-3T.X. EF ¢ 75, PP ¢ 13 HHE(RR)

£ b5Xig OB | s
[97%]
FU=F LB RHE L ¢ 75mm 117.9 1179 | m
¢ 13mm 22.6 22.6 m
=g ] Virsh AENUE
BlEE ST T ¢ 75mm 21 + 2+ 14 + 4 41 [0
FEEAGERE T | ©300mx ¢ 75m 1 1 & AT
EREST
e R E T ¢ 75mm 2 2 AT
TIUEE
TIUVHEETL ¢ 75mm 1 1 =]
AT 7R L 138.9 138.9 m
AR TR
PPREF T ¢ 13mm 28+ 7 35 =]
EFE A
Sy AR T & 75mm X & 13mm 7 7 ST
VCEELE
Ah = AETFRANL T ¢ 75mm 1 L H
VCEELS
TICUHERSNLI] ¢ 75mm 1 1 =
75
LU ERAARE| H=1090m 1 1 &R
AIGTE AT 7| 136 13.6 kg
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2-3LRK WEBMHAE 25

EA ks ¥ B | s
EE (2R

VCEELS ¢ T5mm 1.0 X 13.6 13.6 ke

BRI Ty 7| 13.6 kg
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+ T & X
2-3T.IX EF ¢ 75mmAfiigk T EE a5 ERH= 090 m
MEF ¢ 75mm S HbE (W) AR (C)
EHME(D2) 0.089 e F e (W) 0.55 + 0.55 m
HBHIIE (W) BX(H) BIME o
) - B = 0.55 X ( 0.86 + 0.089 + 0.1)= 0.58
HBHIIE (W) BX(H) WHEEN) R
AR = 0.55 X ( 0.87 - 03 - 0.16)=  0.23
PEHTR (W) WHRE (h1) EWrES
PR = 055 X  0.489 - 0.0062 = 0.26 m
HEH =
A pi= 0.58 m
KB R (D) 1, S5 B v S i
D2 &M% — B ()
X5 B BOME e | Barg-ps] |D2:f 7 BAME 89
1 |PP ¢ 13mm 21.5 0.55 W:| 7 H 1 S 0.55
2 |PP ¢ 20mm 27.0 0.55
3 _|PP¢ 25m 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40m 48.0 0.55
6 |PP ¢ 50mm
8 |EF ¢ 100mn 125.0 0.50
9 |DCIP ¢ 125m| 143.0 0.65 M20+ 10 N
10 |EF ¢ 150mn 180.0 0.50
11 _|EF ¢ 200mn 250.0 0.50
12 |DCIP ¢ 250mn| 271.6 0.80 M20-10 -
13 |DCIP ¢ 300mn | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm| 374.0 0.90 M20-10 < g\/
15 |DCIP ¢ 400mn| 425.6 0.95 M20-10 0
16 |DCIP ¢ 450mm| 476.8 1.00 M20+10
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J=EN
2-3TIX PP ¢ 13mmfiigx T A E a5 ERH= 0.65 m
@PP ¢ 13mm S HbE (W) AR (C)
EHME(D2) 0.022 b (W) 0.55 + 0.55 m
HBHIIE (W) BX(H) BIME o
) &= 0.55 X ( 0.6l + 0.022 + 0.1)= 0.0
HBHIIE (W) BX(H) WHEEN) R
P R = 0.55 X ( 062 - 03 - 016)=  0.09
HBHIIE (W) P R (h1) EWrES
PR = 055 X 0.422 - 0.0062 = 0.23 m
HEH =
B = 0.40 ni
KA R (HD) 1, Sl R A Bk o
D2 &M% — B ()
X5 H BOME fEEE  [womeers] |D2: 1 BAME 21.5
Wil 1 H 1 S 0.55
2 |PP ¢ 20mm 27.0 0.55
3 _|PP¢ 25m 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40mm 48.0 0.55
6 |PP ¢ 50mn 60.0 0.55
7 89.0 0.55
8 |EF ¢ 100mn 125.0 0.55
9 |DCIP ¢ 125m| 143.0 0.65 M20+ 10 N
10 |EF ¢ 150mn 180.0 0.55
11_|DCIP ¢ 200mm| 220.0 0.75 M20-10
12 |DCIP ¢ 250mn| 271.6 0.80 M20-10 -
13 |DCIP ¢ 300mn | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm| 374.0 0.90 M20-10 < g\/
15 |DCIP ¢ 400mn| 425.6 0.95 M20-10 0
16 |DCIP ¢ 450mm| 476.8 1.00 M20+10



2-4T.X PP¢50-13 B &R

& b5Xig &
[&#f]
R xF L& ¢ 50mm 5.0 + 350 + 427 + 80 + 1.0
2.0+0.3 4.0+0.3
¢ 13mm 23 X 4+ 43 x 1
PPF—X ¢ 50mm 1
PP/ ¢ 13mm 1 X 5
PV=/LAR ¢ 13mm 1 X 5
PP/ ¢ 50mm 1
EHED
V7R o— SR ¢ 50mm 2
g
tHEFE JWWA B 132 2
ARy
RB25 (K) 4
e
RA25 (A) 2
TEREE
RC25(C) 2
JEAR
RS25(S) 2
SUSar (T
MFY a4 b ¢ 50mm 4
EFE AN A5 KR | ¢ 75mm X ¢ 50mm 2
PPE B R /A4 7K | ¢ 50mm X ¢ 13mm 6
[ N e 613 1
[ N e & 50 2
Hrr—7 TAEAEL | 917 + 135
~—H—H 11

67




2-4T.X PP¢50-13 HBE(EHR)

b Mk W B R OH A 5 B |
[97%]
PI=F L ERFEL ¢ 50mm 91.7 91.7 m
¢ 13mm 13.5 13.5 m
F—R X A
PPRESFT ¢ 50mm 3.0+ 1.0 + 20 6 =}
AR TR
¢ 13mm 20.0 + + 6.0 26 =
EREST
e R E T ¢ 50mm 2 2 AT
MFYa{vh
A =T AREFET ¢ 50mm 4.0 4 =
MFYa{vh
TR L ¢ 50mm 4.0 4 =
EFE A
Sy AR T & 75mX ¢50m| 2.0 2 ST
PPE A
& 50mm X ¢ 13mm 6.0 6 ST
RS —7 R L 105.2 1052 | m
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+ T & X
2-4 T.IX PP ¢ 50mmAii % T A a5 ERH= 090 m
MPP ¢ 50mm S HbE (W) AR (C)
EHME(D2) 0.060 e F e (W) 0.55 + = 0.55
HBHIIE (W) BX(H) BAME o
) - B = 0.55 X ( 0.86 + 0.060 + 0.1)=  0.56 m
HBHIIE (W) BX(H) WHEEN) R
P R = 0.55 X ( 087 - 03 - 0.16)=  0.23 nt
PEHTR (W) WHRE (h1) EWrES
PR = 055 X  0.460 - 0.0028 = 0.25 m
HEH =
A pi= 0.56 m
KB R (D) 1, S5 B v S i

D2 EH 2 —EF (mm)

Koy & fE BOME HE | Barg-ps|  |D2: 6 BAME 60
1 |PP ¢ 13mm 21.5 0.55 W:| 6 H 1 S 0.55
2 |PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25m 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55

PP ¢ 40mm _48.0 _0.55

7 |EF ¢ 75mm 89.0 0.55 c

8 |EF ¢ 100mm 125.0 0.50

9 |DCIP ¢ 125mm| 143.0 0.65 M20-10 7
10 [EEF ¢ 150mm 180.0 0.50

11 [EEF ¢ 200mm 250.0 0.50

12 [DCIP ¢ 250mm | 271.6 0.80 M20-10

13 [DCIP ¢ 300mm | 322.8 0.85 M20-10 <

14 [DCIP ¢ 350mm | 374.0 0.90 M20-10 < g\/
15 [DCIP ¢ 400mm | 425.6 0.95 M20-10

16 [DCIP ¢ 450mm| 476.8 1.00 M20-10
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+ T & X
2-4TIX PP ¢ 13mmfiigx T A E A& ERH= 0.65 m
@PP ¢ 13mm S HbE (W) AR (C)
EHME(D2) 0.022 b (W) 0.55 + 0.55 m
HBHIIE (W) BX(H) BIME o
) &= 0.55 X ( 0.6l + 0.022 + 0.1)= 0.0
HBHIIE (W) BX(H) WHEEN) R
P R = 0.55 X ( 062 - 03 - 016)=  0.09
HBHIIE (W) P R (h1) EWrES
PR = 055 X  0.422 - 0.0028 = 0.23 m
HEH =
B = 0.40 ni
KA R (HD) 1, Sl R A Bk o
D2 &M% — B ()
X5 H BOME fEEE  [womeers] |D2: 1 BAME 21.5
Wil 1 H 1 S 0.55
2 |PP ¢ 20mm 27.0 0.55
3 _|PP¢ 25m 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40mm 48.0 0.55
6_|PP ¢ 50mn 60.0 0.55
7 _|EF ¢ 75mn 89.0 0.55
8 |EF ¢ 100mn 125.0 0.55
9 |DCIP ¢ 125m| 143.0 0.65 M20+ 10 N
10 |EF ¢ 150mn 180.0 0.55
11_|DCIP ¢ 200mm| 220.0 0.75 M20-10
12 |DCIP ¢ 250mn| 271.6 0.80 M20-10 -
13 |DCIP ¢ 300mn | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm| 374.0 0.90 M20-10 < g\/
15 |DCIP ¢ 400mn| 425.6 0.95 M20-10 0
16 |DCIP ¢ 450mm| 476.8 1.00 M20+10
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[&E#]
Rz F L& ¢ 50mm 9.0 + 33.0 + 7.3 49.3 m
2.0+0.3 5.0+0.3
¢ 13mm 23 X 2+ 53 X 1 9.9 m
PPT/LIR ¢ 13mm 1 X 3 3 A
PV AR ¢ 13mm 1 X 3 3 3
Fhd
VIR — AR ¢ 50mm 2 2 3
[
HEFE JWWA B 132 2 2 18
RS
RB25 (K) 4 4 3
e
RA25 (A) 2 2 3
TEEE
RC25(C) 2 2 jE]
JEAR
RS25(S) 2 2 il
SUSar (T
MFY a4 b ¢ 50mm 4 4 jE]
FEEEFY I A AR | 6 300m X ¢ 50mm 1 1 &
EFE AT vy kEe | ¢ 75mm X ¢ 50mm 1 1 &
PPE AV RV 55 7KE2 | ¢ 50m X ¢ 13m 3 5 &
[ N e & 50 2 2 3
R TARAEL | 493 + 9.9 59.2 m
~—J—Hh 7 7 3
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2-5T.X PP¢50-13 HBE(EHR)

b T e s B R U w8 |
[97%]
PI=F L ERFEL ¢ 50mm 49.3 49.3 m
¢ 13mm 9.9 9.9 m
TR
PPRESFT ¢ 50mm + + 2.0 2 =}
AR TR
¢ 13mn 12.0 + + 3.0 15 =
EREST
e R E T ¢ 50mm 2 2 AT
MFYa{vh
A =T AREFET ¢ 50mm 4.0 4 =}
MFYa{vh
TR L ¢ 50mm 4.0 4 =}
#HekA
Sy KRR T | 6 300mm < ¢ 50mm 1.0 1 &R
EFE A
& 75um X ¢ 50mm 1.0 1 AT
PPE A
& 50mm X ¢ 13mm 3.0 3 ST
BRT— 7L 59.2 59.2 m
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+ T & X
2-5T.IX PP ¢ 50mmAiisx T3 a5 ERH= 090 m
MPP ¢ 50mm S HbE (W) AR (C)
EHME(D2) 0.060 e F e (W) 0.55 + = 0.55
HBHIIE (W) BX(H) BAME o
) - B = 0.55 X ( 0.86 + 0.060 + 0.1)=  0.56 m
HBHIIE (W) BX(H) WHEEN) R
P R = 0.55 X ( 087 - 03 - 0.16)=  0.23 nt
PEHTR (W) WHRE (h1) EWrES
PR = 055 X  0.460 - 0.0028 = 0.25 m
HEH =
A pi= 0.56 m
KB R (D) 1, S5 B v S i

D2 EH 2 —EF (mm)

Koy & fE BOME HE | Barg-ps|  |D2: 6 BAME 60
1 |PP ¢ 13mm 21.5 0.55 W:| 6 H 1 S 0.55
2 |PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25m 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55

PP ¢ 40mm _48.0 _0.55

7 |EF ¢ 75mm 89.0 0.55 c

8 |EF ¢ 100mm 125.0 0.50

9 |DCIP ¢ 125mm| 143.0 0.65 M20-10 7
10 [EEF ¢ 150mm 180.0 0.50

11 [EEF ¢ 200mm 250.0 0.50

12 [DCIP ¢ 250mm | 271.6 0.80 M20-10

13 [DCIP ¢ 300mm | 322.8 0.85 M20-10 <

14 [DCIP ¢ 350mm | 374.0 0.90 M20-10 < g\/
15 [DCIP ¢ 400mm | 425.6 0.95 M20-10

16 [DCIP ¢ 450mm| 476.8 1.00 M20-10
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+ T & X
2-5T.IX PP ¢ 13mmfiigx T A E a5 ERH= 0.65 m
@PP ¢ 13mm S HbE (W) AR (C)
EHME(D2) 0.022 b (W) 0.55 + 0.55 m
HBHIIE (W) BX(H) BIME o
) &= 0.55 X ( 0.6l + 0.022 + 0.1)= 0.0
HBHIIE (W) BX(H) WHEEN) R
P R = 0.55 X ( 062 - 03 - 016)=  0.09
HBHIIE (W) P R (h1) EWrES
PR = 055 X  0.422 - 0.0028 = 0.23 m
HEH =
B = 0.40 ni
KA R (HD) 1, Sl R A Bk o
D2 &M% — B ()
X5 H BOME fEEE  [womeers] |D2: 1 BAME 21.5
Wil 1 H 1 S 0.55
2 |PP ¢ 20mm 27.0 0.55
3 _|PP¢ 25m 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40mm 48.0 0.55
6_|PP ¢ 50mn 60.0 0.55
7 _|EF ¢ 75mn 89.0 0.55
8 |EF ¢ 100mn 125.0 0.55
9 |DCIP ¢ 125m| 143.0 0.65 M20+ 10 N
10 |EF ¢ 150mn 180.0 0.55
11_|DCIP ¢ 200mm| 220.0 0.75 M20-10
12 |DCIP ¢ 250mn| 271.6 0.80 M20-10 -
13 |DCIP ¢ 300mn | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm| 374.0 0.90 M20-10 < g\/
15 |DCIP ¢ 400mn| 425.6 0.95 M20-10 0
16 |DCIP ¢ 450mm| 476.8 1.00 M20+10
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= Y7k
TLEFE JWWA B 132 2+ 2 1A
ARy
RB25 (K) 4+ 4 3
e
RA25 (A) 2+ 2 3
THEEE
RC25(C) 2+ 2 3
JERR
RS25(S) 2+ 2 #H
EFF—X 6 100X 675 1 1 18
dT5X 75 1 1 jE]
EFY/ 4ok ¢ 75mn 7 7 jE]
¢ 7bhmm
EFfr &~V 45° 6 6 jE]
] R kY
WR7T—7 TOEEL | 2282 - 0.780 + 48.0 275.5 m
~—J—Hh 18 18 jE]
6.0+0.3 5.0+0.3 4.0+0.3 3.0+0.3
Rz F L& ¢ 13mm 6.3 X 2 + 53 X 3 + 43 X 3 +330 x 2 48.0 m
PV LR ¢ 13mn 1 X 10 10 jE]
PP /LR ¢ 13mm 1 X 10 10 jE]
EFE AV R K2 | ¢ 75mX ¢ 13mm 1 X 10 10 ]
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NN we s | e
b T e s B R U 5 B |
[97%]
PI=F L ERFEL ¢ 75mm 228.2 228.2 | m
¢ 13mm 48.0 48.0 m
RIoF LBl T ¢ 75mm 22.0 22 =}
E% EE] Virsh AENUN
BEESHFET ¢ 75mm 40 + 4+ 14 + 6 64 BT
EREST
e R E T ¢ 75mm 1 1 AT
AT 7R L 275.5 275.5 m
AR R
PPREF T ¢ 13mm 40+ 10 50 =]
EFE A
Sy AR T & 75mm X & 13mm 10 10 AT
by BT SAF v 4R 5.8 5.8 kg
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RIZF Lo 7 & 75mm 2.640 X 2.180 5.8 ke
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+ T & X
3 LIX EF ¢ 75mmAfiax LA ERH= 090 m
MEF ¢ 75mm S HbE (W) AR (C)
EHME(D2) 0.089 e F e (W) 0.55 + 0.55 m
HBHIIE (W) BX(H) BIME o
) - B = 0.55 X ( 0.86 + 0.089 + 0.1)= 0.58
HBHIIE (W) BX(H) WHEEN) R
AR = 0.55 X ( 0.87 - 03 - 0.16)=  0.23
PEHTR (W) WHRE (h1) EWrES
PR = 055 X  0.489 - 0.0062 = 0.26 m
HEH =
A pi= 0.58 m
KB R (D) 1, S5 B v S i
D2 &M% — B ()
X5 B BOME e | Barg-ps] |D2:f 7 BAME 89
1 |PP ¢ 13mm 21.5 0.55 W:| 7 H 1 S 0.55
2 |PP ¢ 20mm 27.0 0.55
3 _|PP¢ 25m 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40m 48.0 0.55
6 |PP ¢ 50mm
8 |EF ¢ 100mn 125.0 0.50
9 |DCIP ¢ 125m| 143.0 0.65 M20+ 10 N
10 |EF ¢ 150mn 180.0 0.50
11 _|EF ¢ 200mn 250.0 0.50
12 |DCIP ¢ 250mn| 271.6 0.80 M20-10 -
13 |DCIP ¢ 300mn | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm| 374.0 0.90 M20-10 < g\/
15 |DCIP ¢ 400mn| 425.6 0.95 M20-10 0
16 |DCIP ¢ 450mm| 476.8 1.00 M20+10
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+ T & X
3TIX PP¢ 13mmAfak TE G ERH= 0.65 m
@PP ¢ 13mm S HbE (W) AR (C)
EHME(D2) 0.022 b (W) 0.55 + 0.55 m
HBHIIE (W) BX(H) BIME o
) &= 0.55 X ( 0.6l + 0.022 + 0.1)= 0.0
HBHIIE (W) BX(H) WHEEN) R
P R = 0.55 X ( 062 - 03 - 016)=  0.09
HBHIIE (W) P R (h1) EWrES
PR = 055 X 0.422 - 0.0062 = 0.23 m
HEH =
B = 0.40 ni
KA R (HD) 1, Sl R A Bk o
D2 &M% — B ()
X5 H BOME fEEE  [womeers] |D2: 1 BAME 21.5
Wil 1 H 1 S 0.55
2 |PP ¢ 20mm 27.0 0.55
3 _|PP¢ 25m 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40mm 48.0 0.55
6 |PP ¢ 50mn 60.0 0.55
7 89.0 0.55
8 |EF ¢ 100mn 125.0 0.55
9 |DCIP ¢ 125m| 143.0 0.65 M20+ 10 N
10 |EF ¢ 150mn 180.0 0.55
11_|DCIP ¢ 200mm| 220.0 0.75 M20-10
12 |DCIP ¢ 250mn| 271.6 0.80 M20-10 -
13 |DCIP ¢ 300mn | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm| 374.0 0.90 M20-10 < g\/
15 |DCIP ¢ 400mn| 425.6 0.95 M20-10 0
16 |DCIP ¢ 450mm| 476.8 1.00 M20+10



HAkE B 55

£ b5Xig OB | s
[&E#]
GHI
PEML O#FERRITTEE | ¢ 100m X ¢ 75m 1 9 ®
GHI
PEML O#EERITTEE | ¢ 75X ¢ 75um 1 3 E
MEHERT
MR AR |77 A 1 5 3
Es
HFEOHARRE | 450 X350-200 1 5 &
ABREL
450 X 350-200 1 5 3
CEREL
450 X 350-200 1 5 A
ES
680X 200-40 1 5 3
FEERELT 7V HEE | ¢ 75mm % 150mm 1 5 N
EFY ok ¢ 100mn 1 2 j]
¢ 75mm 1 3 3
[57%] _
) ) EREST
AR E T HFR 1 5 BT
Vi
BlEE ST T ¢ 100mn 4 4 [0
Vi
BlEE ST T ¢ 75mm 6 6 [tz

90




050 £

0G0 = O08yS X W yo0 x W/EW €200 Eioh 4 sy ®TE
F TG E ek ELE
L010 £
LOI'0 = 9911 x W po0 X W/EW g200 i sy ®TSs-2
F TG E ek ELE
1610 £
1610 = ¥L0Z X W 00 X W/EW £200 i sy R®Iv-2
F TG E ek ELE
€220 £
€220 = 0Irg x W po0 X W/EW £200 i sy ®Te-2
F TG E ek ELE
€L20 £
€L20 = 8967 %X W po0 X W/EW £200 i sy ®Te-2
F TG E ek ELE
8620 £
8620 = 0087 x W po0 X W/EW £200 i sy ®Tl-2
F TG E ek BELE
25¢0 £
2660 = 978 x W po0 X W/EW £200 i sy ®TIz-1
F TG E ek BELE
€60 £
160 = PLLE X W o0 x W/EW £200 i sy ®Tl-1
F TG E ek BELE
IR EOLT

(- Y ]REEEHT

91



